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, I .• Ixl ±2;l; 0J lxl1. (a.) lim -'-2- =! lim -:--?' = ±~ =? lim -'-2- = DN E.:z:-O± sm x 2:z:-0± S1I1_x :z:-O Sill :c

(b) lim cos(x - sin x) = cos! lim (x - sin x)) = cos(1f - 0) -r=Tl%-~ %-~ ~

2. x2 - X - 2 = 0 =* (x - 2)(x + 1) = 0 =* x = 2 or x = -1.

. () . x(x - 1)(x + 1) []11m f x = bo:. (. 0)( ) = -3 =* No V.A. at x = -1.:z:_-I :z:--1 )',,~ ~ x + 1

!im f(x) = ±co =*1 x = 21is V.A:r-.2±

xJ (1 _ 1 )

[im I(x) = lim 2( I;:'I '2' = ±co :;, No H.A.:z:_±oo :r-±oo x 1 - x - ;?I

3. f(I)=A+Bsin~=A+B,

lilll I(x) = !irn 2si~(x -1) = ( lim _2_) ( lim _Si_Il_(X_-_l_))=ITJ:z:-I+ :::-1+ X -1 :::-1+ X + 1 (:::-1)-0+ (x - 1)

lim I(x) = lim (2A + xJ - 1) = 12A + 31.:r-I-' :r-I- x-l~' ---'.

Urn I(x) = 1(1) = lirn /(x) :;,1 A = -I, B = 2\=_1+ x-l-~· -----.

4. Considcr F(x) = /(x) - 9(x) = x5 - 6:1:4 + 4xJ - 2x + 2. f and 9 intersect at the zeros of F. Since
F(O) = 2> 0 & F(-l) = -7 < 0 n.nd F is continuous on [-1,0], thcn from the Intermediate Value
Theorem there exists c E (-1,0) such that F( c) = O. Thus / und 9 intcrsect in (-1,0).

5. f'(x) = -;x - 2 . I is continuous at x = o'lum f'(x) = =t=coI =* The graph of / has n cusp at. 3x" (x - 1)2 ~.:::_-_o_± t

~.

6.1 I'(x) = 2(x + 1) cosx - (:2: + 1)2 sinx I:;,Slope of tn.ngent line= I /'(0) = 21 & 1/(0) = 11:;, Equation

of tangent line at P(O, 1) is: 1 y = 2x + 11

dy du 2

7. -d = 2u - 5 & -d = ( )~ =*tL x x+l

dy dy du 2 [x - 1 ] 2dx = du x dx = (2u.-5)-(x-+-l)-2 = 2(-x-+-1)-5 -.-_ .....




